1 вариант
47+  3=                       8+ (20- 14)=
47+30=                       30+ (57-47)=

9+3 x 2=                       8+12 : 2=                        
11-2 x 3=                      13-10 : 2=
2 x 7- 5=                       14 : 2+ 6=

26 см- 6 см      1 дм                          18 см – 9 см          1 дм
1 см + 9 см       1 дм                          3 см + 7 см           1 дм

56 см.+ 24 см =                    60 кг – 52 кг =
43м.+57 м.=                          100 м.- 6 м. =

Задача
Испекли –100 пирожков.
Увезли – 40 пир. с капустой и 35 пир. с картошкой
Осталось -?
Решение:
1)
2)
Ответ:







1 вариант
2 вариант
48+  2=                       9+ (20- 12)=
27+13=                       20+ (37-27)=

4+4 x 4=                       7+15 : 3=                        
15-2 x 3=                      11-10 : 2=
2 x 4- 5=                       14 : 3+ 6=

25 см- 5 см      1 дм                          14 см – 7 см          1 дм
4 см + 6 см       1 дм                          5 см + 7 см           1 дм

57 см.+ 3 см =                    30 кг – 2 кг =
85м.+5 м.=                          40 м.- 15 м. =

Задача
Испекла –30 пирожков.
Съели – 4 пир. с капустой и 3
[bookmark: _GoBack] пир. с картошкой
Осталось -?
Решение:
1)
2)
Ответ:







3 вариант
13+ 2=                       15 + 3=           
20+ 5=                       14 – 4 =           

2р. x 4=                       2 кг x 2=                        
5р. x 2=                       2 кг x 3=
7р. x 3=                       6 кг x 5=

10 см      5 см               16 см       6 см          
7 см        3 см                 9 см       5 см           

6 р +2р.=                    4 кг + 5 кг =
14 см -4 см.=              15 м. - 10 м. =

Задача
Собрал – 16 яб.
Съел – 6 яб.
Осталось ?
Решение:
1)
Ответ:


